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o U Tq F T 5 G F 3T FT-9T § JET 7% 16 TI 797 40 &
Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 40 questions.

o GHEREl Y T To FeT-TH T e [

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUT 37 @ (@ 98 FERad &Y d [ geT9H [ T & 8, TOET & IIT 59
T § g 4 @ w@hHre Tl A @

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G [7397 -
General Instructions :

() @ g7 IErt &

All questions are compulsory.
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(i) 797 FF%F 1 @ 40 TF JEGTC Jo7 81 F9F FoT 1 G FH 8 @& FAC G

1.

217/ 11

FAT-grécTer H freay

Questions from 1 to 40 are objective type questions. Each question is of
1 mark. Write correct answer in your answer-book.

Fr=T & @ 68 @ & g § ARG § FHST GER AR B G ge ? 1
() ofrndy et B) 5gs T
(©) F% T (D) =i o

Which of the following classes led the social reform movement in India ?

(A) Capitalist Class (B) Enlightened Class

(C) Farmer Class (D) Labour Class

AR TS % Rdarelf F e S e a m f= d d | w2 ? 1
(A) TS

(B) SrEifee e

(C) dfR=RR

(D) ST @+

Which of the following has been the subject of greatest concern among the
characteristics of Indian society ?

(A) Exclusion
(B) Partless Unlimited
(C) Boycott

(D) All of the above
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3. ‘I HEEAN % EEH Ugd FHeanil © 1
(A) e fersa (B) roriiicren ferermen
(C) @I fawwa (D) ™ ¥ &g T

Unequal access to 'Social Resources' is called :

(A) Economic disparity (B) Political dissimilarity
(C) Social disparity (D) None of these
4. ‘MR GO # SEAT &6 § Y gRied B @ T B 5 7 1
(A) IS = (B) oTffE =
(C) TSTIfres = (D) STgE &
Which of the following tries to ensure 'Preamble of the Indian Constitution'?
(A) Social Justice (B) Economics Justice
(C) Political justice (D) All of the above
5. S & TEEHA oo Bl Bl 1
(A) e (B) dsTT
(©) (D) SHYFT F A g T
The membership of the caste is .............. .
(A) Earned (B) Hereditary
(C) Legal (D) None of the above
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HEHITHLOT & AWE 8 [ .o, ST 3= S & S o 1
A) = (B) #&H

(C) = (D) I9g% | & &5 eI

Sanskritization means that .............. caste becomes upper caste.

(A) Poor (B) Middle

(C) Upper (D) None of the above

TAR O oo ¥ faam @ 2 1
(A) SEREErRl (B) TehgaRardl

(C) (A) T (B) & (D) WY F § FE T

Christianity believes in religion .............. .
(A) Polytheist

(B) monotheist

(C) Both (A) and (B)

(D) None of the above

98 THT S g8 ST Sl P FHF HHA 8, I oo HHE S B 1
() ofs ganE (B) < o fawe=
(C) fireh HHR (D) SigF § d B A&

The society which considers man and woman equal is considered ............. .
(A) Gender bias

(B) Sexual Division of Labour

(C) Gender Equatlity

(D) None of the above
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AR oo 315 21 R |y i &= 7 fwifoa 2

(A) 29 R 7 (B) 28 3 8

(C) 289 7 (D) 288X 9

. India is divided into .............. province and .............. in union Territories.
(A) 29 and 7 (B) 28 and 8

(C) 28and 7 (D) 28 and 9

10. forem aRwg ®IE @AEd # TR ©

(a) T (B) R #

(C) TR & D) #& &

Zila Parishad is a unit of local self-government :

(A) Of the Village (B) Of the City

(C) Of the Town (D) Of the Kasba

11. = g & 99arg 2011 0% 9Ra § feall STEeFe & g 8 ?

217/11

(A) T (B) ®:
(C) U (D) e
How many census have been done in India till 2011 after independence ?

(A) Seven (B) Six

(C) Five (D) Eight

P.
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12. 2001 F STFEMT & FFAR R § e fea g ? 1
(A) 934 (B) 927
(C) 940 (D) 933

What is the sex ratio in India according to 2001 census ?

(A) 934 (B) 927
(C) 940 (D) 933
13. 9RA & T4 fasg i fe ofoed 9 8 ? 1
(A) 3.4 % B) 4.2%
() 4.4% (D) 2.4 %

What percentage of the land of the world does India have ?

(A) 3.4 % B) 4.2%
C) 4.4 % D) 2.4 %
14. SNEEA & YO B S S H | e e ? 1
(A) T (B) HrId
(C) ®W& (D) Sifds
Who among the following gave the principle of quality of population ?
(A) Lamarc (B) Malthus
(C) Spencer (D) Darwin
15. ARG & SFOFT 2011 % AR AT SEer H gfasr fea g ? 1
(A) 68.84 B) 67.84
(C) 72.21 (D) 69.84
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What is the percentage of rural population according to Census 2011 of India ?

(A) 68.84 (B) 67.84
(C) 72.21 (D) 69.84
16. HAEM H HIF-8 a7 F ST Sl B ARG fear @ e ? 1
(A) 9T 339 (B) €T 340
(C) 41 342 (D) 49im 341
Which section of the Constitution has been notified to Scheduled Castes ?
(A) Section 339 (B) Section 340
(C) Section 342 (D) Section 341
17. goqe # 9Rd § 99 S S (HeFR) Be-H & 7 1
(A) et (B) hIcTehrdl
(C) IR gk (D) =%
Which is the largest megacity (metropolitan) at present in India ?
(A) Delhi (B) Kolkata
(C) Greater Mumbai (D) Chennai
18. UEER o1 Rl 7391 HaEnte Helle @n g 1
(A) 24 ¥, 1992 (B) 24 3T, 1993
(C) 24 3B, 1992 (D) 24 ¥, 1993
The 73rd Constitutional Amendment related to Panchayati Raj came into
force :
(A) 24 March, 1992 (B) 24 April, 1993
(C) 24 April, 1992 (D) 24 March, 1993
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SUHHT TG & BF o 1
(A) TR (B)

(C) 4 (D) T & & Tl

The centers of the consumer culture are :

(A) Town (B) Village

(C) State (D) None of these

AT H DF-A1 I W G i’ | ST 8 7 1
(A) F== q

(B) HegH o

(C) ¥=@ STl

(D) ST e

Which class of the society is associated with the discrimination protection
policy ?

(A) Upper class
(B) Middle class

(C) Dominant castes

(D) Scheduled castes

GERIHIT bl qROT =1 § & ol fage 3 & o ? 1
(A) Sfas B (B) oS G
(C) THo THo SHfvard (D) @
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Which of the following scholars gave the notion of Sanskritization ?
(A) David Harvey
(B) Arnold Toynbee
(C) M. N. Srinivas
(D) Lerner
22, e < Al g @ (UM & [T wewyll a6 1
(A) o =R
(B) ol {HHIET 4
(C) &t AREY &
(D) A
.............. made significant efforts to stop the practice of Sati Pratha.

(A) Dr. Ambedkar

(B) Raja Rammohan Roy
(C) Sri Narayan Guru

(D) Jyotirao Phule

23. T T AR (e ey fhar ? 1
(A) IR Zo dlo TR
(B) &t AREY &
(C) 3@ I= [EmErR
(D) “Aferfd g

9
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(10)
Who started the Self Esteem Movement ?
(A) Periyar E. V. Ramaswamy
(B) Sri Narayan Guru
(C) Iswar Chandra Vidyasagar

(D) Jyotirao Phule

e ST & S B © 7

(4) =S FEE g
(B) P ST
(C) WET Ueeh

(D) Sfo T=—H

Who is the father of Chipko movement ?
(A) Chandi Prasad Bhatt

(B) Sundarlal Bahuguna

(C) Megha Patekar

(D) Dr. Ambedkar

TN GH STRIAT [ aarr ?

(A) T Xl (B)
(C) e (D)
Who ran the Satyashodhak movement ?

(A) Dayanand Saraswati (B)
(C) Jyotirao Phule (D)

217
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Raja Ram Mahan Rai

Arundhati Roy
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26. UM & HI-4 APRE H T B =@ B TS F FRq R @ e ? 1
(A) ITIEE 42 (B) T 41
(C) oFT=T 45 (D) FTWE 40
Which Article of the Constitution directs the states to constitute Panchayats ?
(A) Article 42 (B) Article 41
(C) Article 45 (D) Article 40
27. ARG 7 ToHID ol @ oA H AER Freired § | /b e ? 1
(A) & (B)
() & (D) ST w
Which of the following the basis of formation of political parties in India ?
(A) Religion (B) Language
(C) Regionality (D) All of the above
28. I § P-4 THY & &I 8 7 1
(A) AR S e (B) ARG HYWE U
(C) g™ HHEE! qrél (D) R@ &
Which of the following is not a national party ?
(A) Bhartiya Janta Party (B) Bhartiya Communist Party
(C) Bahujan Samajwadi Party (D) Shiv Sena
29. ST THART W& 3 Fd-940 &1 6y 71 & | 5 SR W fear ? 1
(A) HAHaaEE S (B) waff® TRl
() fog At (D) S @f
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On which of the following grounds did Raja Ram Mohan Roy opposed the
practice of Sati Pratha ?

(A) Humanitarian Theory Plaintiff (B) Natural Rights

(C) Hindu scriptures (D) All the above

Crta| e ke | e o | R B A A | B e e IR | IR 1
(A) 6 B) 7

C) 8 (D) 9

What is the number of currently recognized National Parties ?

(A) 6 (B) 7

C) 8 (D) 9

T § BHI-H & H@HR & Ahaliv=ih Ty § Je G 37e] B 8 7 1
(A) TR & (B) HMHIfSTER HeA

(C) onfiE He (D) SWE 7 & Fi§ T

Which of these parties plays the main role in the democratic form of
government ?

(A) Political party (B) Social organization

(C) Economic Organization (D) None of the above

fFrifafad & | -9 30 8519 & el © ¢ 1
(A) RawT st & (B) UgY-2eM et

(C) #REvs qfe Hi=i (D) Al G qréf
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Which of the following parties is not a regional party ?

(A) Shiromani Akali Dal (B) Telugu-Desam Party
(C) Jharkhand Mukti Marcha (D) National People's Party
33. &R H I 1
(A) AR EFAR (B) V&% &5dTE
(C) SFeTTEErE! &efars (D) SwgE @+
The form of regionalism is :
(A) Linguistic Regionalism (B) Defender Regionalism
(C) Separatist Regionalism (D) All of the above
34. f=iaRed & @ HF-91 &F R H TS a9 & ? 1
(A) Ry o (B) & e
(C) o & (D) % A o T
Which of the following religions is the National religion of India ?
(A) Hinduism (B) Sanatan Dharma
(C) Arya Dharma (D) No religion
35. “URASH TF TIEETE FA ¢ S AU @rdiad IRREid § qoidn & o< #2817 T8
FI e faam &1 8 7 ]
(A) o Ta=a
(B) ez
(©) me
(D) 3 gEd
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"The project is a problematic work that achieves perfection in its natural
conditions." Which scholar makes this statement ?

(A) Prof. Stevenson
(B) Kilpatrick
(C) Bellard

(D) David Easton

frifafed & § TE a9 & e 781 ® 1
(A) ik

(B) FN e

(C) SReX TRaR

(D) QIS Tiereiierr

The following is not a feature of the urban society.
(A) Individualism

(B) Agribusiness

(C) Unstable family

(D) Social mobility

R # G99 SISl HA-9 B 7 1
(A) i

B) s

(C) wu

(D) YT Gl
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Which is the largest tribe in India ?

(A) Bhil
(B) Gaund
(C) Santhal

(D) All of the above

AR AR HReer AR e ad # qr ger o ? 1
(A) 1976 (B) 1977
(C) 1991 (D) 1955

In which year was the Civil Rights Protection Act passed ?

(A) 1976 (B) 1977

(C) 1991 (D) 1955

FME 7 30T (Caste in India) THE J&is e ot ? 1
(A) TR 3

B) =fo g I

(©) &g 3

(D) THo UHo Hifam =

Who wrote the book 'Cast in India' ?
(A) Mazumdar

(B) Dr. Dhurye

(C) Hutton

(D) M. N. Shrinivas

P.T.0O.
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fofT Sew@ | B 7
(A) R AT
(B) fWe=pres

(C) ST

(D) SudE a4l

What is gender discrimination ?
(A) Pragmatic Subordination
(B) Expulsion

(C) Absenteeism

(D) All of the above
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